

Add eqn (1) and (2)

$$4c = -6$$

$$c = \frac{-6}{4}$$

$$c = -\frac{3}{4}$$

from eqn (1)

$$4d + 4c = 0$$

$$4d + 4\left(-\frac{3}{4}\right) = 0$$

$$4d + (-3) = 0$$

$$4d = 3$$

$$d = \frac{3}{4}$$

$$\text{P.I. } y = -\frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta$$

$$y = \frac{3}{4} (-\cos \theta + \sin \theta)$$

$$\text{G.S.} = \text{C.F.} + \text{P.I.}$$

$$y = e^{-2\theta} (A \cos \theta + B \sin \theta) + \frac{3}{4} (-\cos \theta + \sin \theta)$$

(ii) Neglecting the C.F.

$$y = 0.75 (-\cos \theta + \sin \theta)$$

$$y = 0.75 (\cos \theta - \sin \theta)$$

From 0° to 270° .

iii) Steady state value;

$$\frac{dy}{dz} = 0 \quad \theta = \infty$$

Ahmedou Sultanbakh

15/eng.06.006

Mechanical Engineering

$$\frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 6\sin\theta$$

$$\frac{d^2y}{d\theta^2} + 4\frac{dy}{d\theta} + 5y = 0$$

$$m^2 + 4m + 5 = 0$$

$$-b \pm \sqrt{b^2 - 4ac}$$

$$\frac{-4 \pm \sqrt{4^2 - 4(1)(5)}}{2(1)}$$

$$\frac{-4 \pm \sqrt{16 - 20}}{2}$$

$$\frac{-4 \pm \sqrt{-4}}{2}$$

$$\frac{-4 \pm j2}{2}$$

$$-2 \pm j$$

C.F

$$y = e^{-2\theta} (A \cos\theta + B \sin\theta)$$

P.I

$$\text{IF } y = C \cos\theta + D \sin\theta$$

$$\frac{dy}{d\theta} = -C \sin\theta + D \cos\theta$$

$$-C \cos\theta - D \sin\theta + 4(C \cos\theta + D \sin\theta) + 5(C \cos\theta + D \sin\theta)$$

$$= (C \cos\theta - D \sin\theta + 4C \cos\theta + 4D \sin\theta + 5C \cos\theta + 5D \sin\theta) = 6 \sin\theta$$

$$C \cos\theta (-C + 4C + 5C) + \sin\theta (-D - 4C + 5D) = 6 \sin\theta$$

Comparing Co-efficients

$$-C + 4C + 5C = 0$$

$$D - 4C + 5D = 6$$

$$4D + 4C = 0 \quad \text{--- (I)}$$

$$-4C + 4D = 6 \quad \text{--- (II)}$$

50